

# **Summary of Bids Received**

Project: Skokie Valley Bike Path Culverts

Section: 20-00999-70-DR

**Description:** This project consists of removing and replacing 4 culverts with associated headwalls on the Skokie Valley Bike Path.

**CPMS Pin:** B-01620B Let Date: 7/13/2021

Bidder	Address	City, State, Zip	Bond	Bid Price	% Over/Under Eng. Estimate	\$ Over/Under Eng. Estimate		
Copenhaver Construction	75 Koppie Dr.	Gilberts, IL 60136	Bid Bond	\$300,077.00	-23.31%	-\$91,224.00		
Campanella & Sons, Inc.	39207 N Magnetics Blvd	Wadsworth, IL 60083	Bid Bond	\$390,481.31	-0.21%	-\$819.69		
Berger Excavating Contractors	1205 Garland Road	Wauconda, IL 60084	Bid Bond	\$476,059.30	21.66%	\$84,758.30		
Acura Inc.	556 County Line Rd	Bensenville, IL 60106	Bid Bond	\$517,171.50	32.17%	\$125,870.50		
Alliance Contractors, Inc.	1166 Lake Avenue	Woodstock, IL 60098	Bid Bond	\$571,472.30	46.04%	\$180,171.30		
Engineer's Estimate				\$391,301.00				
Design	IDOT(2)	Contract Bidder		County Engineer				
Finance	Bid Tab File	Resident Eng.	M	lgr Capital Progra	mming			
Construction	Project File	Request By Mail						



### **Return Bid Tabulation**

Project: Skokie Valley Bike Path Culverts

Section: 20-00999-70-DR

Description: This project consists of removing and replacing 4 culverts with associated headwalls on the Skokie Valley Bike Path.

CPMS Pin: B-01620B Let Date: 7/13/2021

Item					Eng Es	timate	Alliance Con	tractors, Inc.	Berger Excavation	ng Contractors	Campanella	& Sons, Inc.	Copenhaver Construction		Acura Inc.	
No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
1	20800150	TRENCH BACKFILL	82.0	CU YD	\$35.00	\$2,870.00	\$85.00	\$6,970.00	\$135.00	\$11,070.00	\$136.64	\$11,204.48	\$38.00	\$3,116.00	\$45.00	\$3,690.00
2	21101615	TOPSOIL FURNISH AND PLACE, 4"	843.0	SQ YD	\$5.00	\$4,215.00	\$9.00	\$7,587.00	\$6.00	\$5,058.00	\$0.10	\$84.30	\$5.00	\$4,215.00	\$4.00	\$3,372.00
3	21301052	EXPLORATION TRENCH 52" DEPTH	100.0	FOOT	\$50.00	\$5,000.00	\$1.00	\$100.00	\$46.86	\$4,686.00	\$32.20	\$3,220.00	\$20.00	\$2,000.00	\$25.00	\$2,500.00
4	25000210	SEEDING, CLASS 2A	0.2	ACRE	\$3,000.00	\$600.00	\$8,120.00	\$1,624.00	\$8,200.00	\$1,640.00	\$5,082.00	\$1,016.40	\$4,000.00	\$800.00	\$7,500.00	\$1,500.00
5	25000312	SEEDING, CLASS 4A	0.1	ACRE	\$3,500.00	\$350.00	\$9,330.00	\$933.00	\$9,400.00	\$940.00	\$5,082.00	\$508.20	\$10,000.00	\$1,000.00	\$10,000.00	\$1,000.00
6	25000314	SEEDING, CLASS 4B	0.1	ACRE	\$4,500.00	\$450.00	\$10,980.00	\$1,098.00	\$11,000.00	\$1,100.00	\$5,082.00	\$508.20	\$10,000.00	\$1,000.00	\$10,000.00	\$1,000.00
7	25100630	EROSION CONTROL BLANKET	738.0	SQ YD	\$3.00	\$2,214.00	\$1.85	\$1,365.30	\$1.85	\$1,365.30	\$9.45	\$6,974.10	\$2.00	\$1,476.00	\$1.50	\$1,107.00
8	50104400	CONCRETE HEADWALL REMOVAL	5.0	EACH	\$2,500.00	\$12,500.00	\$1,000.00	\$5,000.00	\$1,500.00	\$7,500.00	\$930.00	\$4,650.00	\$500.00	\$2,500.00	\$1,500.00	\$7,500.00
9	50105220	PIPE CULVERT REMOVAL	373.0	FOOT	\$50.00	\$18,650.00	\$10.00	\$3,730.00	\$27.00	\$10,071.00	\$23.53	\$8,776.69	\$30.00	\$11,190.00	\$67.50	\$25,177.50
10	50201101	COFFERDAM (TYPE 1) (LOCATION - 1)	1.0	EACH	\$7,500.00	\$7,500.00	\$1,500.00	\$1,500.00	\$6,200.00	\$6,200.00	\$4,200.00	\$4,200.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
11	50201102	COFFERDAM (TYPE 1) (LOCATION - 2)	1.0	EACH	\$7,500.00	\$7,500.00	\$1,500.00	\$1,500.00	\$3,000.00	\$3,000.00	\$4,200.00	\$4,200.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
12	50201103	COFFERDAM (TYPE 1) (LOCATION - 3)	1.0	EACH	\$7,500.00	\$7,500.00	\$1,500.00	\$1,500.00	\$3,000.00	\$3,000.00	\$4,200.00	\$4,200.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
13	50201104	COFFERDAM (TYPE 1) (LOCATION - 4)	1.0	EACH	\$7,500.00	\$7,500.00	\$1,500.00	\$1,500.00	\$3,000.00	\$3,000.00	\$4,200.00	\$4,200.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
14	50800205	REINFORCEMENT BARS, EPOXY COATED	8,580.0	POUND	\$3.00	\$25,740.00	\$1.00	\$8,580.00	\$2.25	\$19,305.00	\$2.25	\$19,305.00	\$2.50	\$21,450.00	\$5.00	\$42,900.00
15	54003000	CONCRETE BOX CULVERTS	52.0	CU YD	\$2,700.00	\$140,400.00	\$4,600.00	\$239,200.00	\$2,000.00	\$104,000.00	\$2,528.62	\$131,488.24	\$950.00	\$49,400.00	\$5,000.00	\$260,000.00
16		PRECAST REINFORCED CONCRETE FLARED END SECTIONS 36"	1.0	EACH	\$1,800.00	\$1,800.00	\$1,800.00	\$1,800.00	\$3,400.00	\$3,400.00	\$3,019.00	\$3,019.00	\$2,400.00	\$2,400.00	\$3,000.00	\$3,000.00
17		PRECAST REINFORCED CONCRETE FLARED END SECTIONS 42"	2.0	EACH	\$2,200.00	\$4,400.00	\$2,500.00	\$5,000.00	\$6,000.00	\$12,000.00	\$3,474.00	\$6,948.00	\$3,600.00	\$7,200.00	\$4,000.00	\$8,000.00
18		PRECAST REINFORCED CONCRETE FLARED END SECTIONS 48"	2.0	EACH	\$2,500.00	\$5,000.00	\$3,000.00	\$6,000.00	\$8,500.00	\$17,000.00	\$3,814.00	\$7,628.00	\$4,500.00	\$9,000.00	\$4,500.00	\$9,000.00
19	542A0241	PIPE CULVERTS, CLASS A, TYPE 1 36"	80.0	FOOT	\$130.00	\$10,400.00	\$675.00	\$54,000.00	\$275.00	\$22,000.00	\$305.45	\$24,436.00	\$169.00	\$13,520.00	\$185.00	\$14,800.00
20	542A0247	PIPE CULVERTS, CLASS A, TYPE 1 42"	88.0	FOOT	\$175.00	\$15,400.00	\$690.00	\$60,720.00	\$320.00	\$28,160.00	\$298.60	\$26,276.80	\$225.00	\$19,800.00	\$205.00	\$18,040.00
21	542A1093	PIPE CULVERTS, CLASS A, TYPE 2 48"	118.0	FOOT	\$180.00	\$21,240.00	\$705.00	\$83,190.00	\$420.00	\$49,560.00	\$363.55	\$42,898.90	\$290.00	\$34,220.00	\$215.00	\$25,370.00
22	60100905	PIPE DRAINS 4"	100.0	FOOT	\$35.00	\$3,500.00	\$20.00	\$2,000.00	\$5.00	\$500.00	\$19.20	\$1,920.00	\$10.00	\$1,000.00	\$15.00	\$1,500.00
23	60100915	PIPE DRAINS 6"	100.0	FOOT	\$40.00	\$4,000.00	\$20.00	\$2,000.00	\$7.00	\$700.00	\$22.20	\$2,220.00	\$15.00	\$1,500.00	\$15.00	\$1,500.00
24	LC200051	REJECTED LOAD TRANSPORTATION	3.0	LOAD	\$750.00	\$2,250.00	\$500.00	\$1,500.00	\$1.00	\$3.00	\$1.00	\$3.00	\$50.00	\$150.00	\$500.00	\$1,500.00



### **Return Bid Tabulation**

Project: Skokie Valley Bike Path Culverts

Section: 20-00999-70-DR

Description: This project consists of removing and replacing 4 culverts with associated headwalls on the Skokie Valley Bike Path.

CPMS Pin: B-01620B Let Date: 7/13/2021

							Eng Estimate		Alliance Contractors, Inc.		Berger Excavating Contractors		Campanella & Sons, Inc.		Copenhaver Construction		Acura Inc.	
Item	Pay Code	Description	Quantity	Unit	Elig Es	limate	Amarice Com	ractors, inc.	Derger Excavati	, , , , , , , , , , , , , , , , , , , ,	ampanena & Johns, Inc.   Copennaver Constructi		Construction					
No.		·			Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price		
25		MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	3,310.0	UNIT	\$1.00	\$3,310.00	\$1.00	\$3,310.00	\$1.00	\$3,310.00	\$1.00	\$3,310.00	\$1.00	\$3,310.00	\$1.00	\$3,310.00		
26	X0325825 F	PAVEMENT REPLACEMENT	74.0	SQ YD	\$500.00	\$37,000.00	\$215.00	\$15,910.00	\$490.00	\$36,260.00	\$462.00	\$34,188.00	\$90.00	\$6,660.00	\$210.00	\$15,540.00		
27	X0426200 I	DEWATERING	1.0	LSUM	\$20,000.00	\$20,000.00	\$3,370.00	\$3,370.00	\$1,700.00	\$1,700.00	\$2,500.00	\$2,500.00	\$5,000.00	\$5,000.00	\$15,000.00	\$15,000.00		
28		MEMBRANE WATERPROOFING SYSTEM FOR BURIED STRUCTURES	30.0	SQ YD	\$200.00	\$6,000.00	\$130.00	\$3,900.00	\$125.00	\$3,750.00	\$121.00	\$3,630.00	\$250.00	\$7,500.00	\$90.00	\$2,700.00		
29	X2511630 E	EROSION CONTROL BLANKET (SPECIAL)	106.0	SQ YD	\$12.00	\$1,272.00	\$4.00	\$424.00	\$4.00	\$424.00	\$10.50	\$1,113.00	\$5.00	\$530.00	\$5.00	\$530.00		
30	X /010216	TRAFFIC CONTROL AND PROTECTION (SPECIAL)	1.0	L SUM	\$10,000.00	\$10,000.00	\$41,400.00	\$41,400.00	\$113,100.00	\$113,100.00	\$24,245.00	\$24,245.00	\$67,000.00	\$67,000.00	\$25,000.00	\$25,000.00		
31	XX006658 F	FLOCCULATION LOGS	5.0	LOGS	\$100.00	\$500.00	\$500.00	\$2,500.00	\$25.00	\$125.00	\$10.00	\$50.00	\$150.00	\$750.00	\$200.00	\$1,000.00		
32	XX006659 F	FLOCCULATION POWDER	5.0	LBS	\$100.00	\$500.00	\$50.00	\$250.00	\$5.00	\$25.00	\$10.00	\$50.00	\$20.00	\$100.00	\$25.00	\$125.00		
33	X XIIIIK / JU	PERIMETER EROSION BARRIER, ROLLED EXCELSIOR	110.0	FOOT	\$10.00	\$1,100.00	\$14.50	\$1,595.00	\$14.50	\$1,595.00	\$5.00	\$550.00	\$15.00	\$1,650.00	\$5.00	\$550.00		
34	Z0055905	TEMPORARY CONSTRUCTION FENCE	64.0	FOOT	\$10.00	\$640.00	\$6.50	\$416.00	\$8.00	\$512.00	\$15.00	\$960.00	\$10.00	\$640.00	\$15.00	\$960.00		
	Bid Total				\$391,301.00		\$571,472.30		\$476,059.30		\$390,481.31		\$300,077.00		\$517,171.50			



## **Return Bid Details**

Project: Skokie Valley Bike Path Culverts

Section: 20-00999-70-DR

**Description:** This project consists of removing and replacing 4 culverts with associated headwalls on the Skokie Valley Bike Path.

**CPMS Pin:** B-01620B **Let Date:** 7/13/2021

Item	Day Code	Description	Quantity	Unit	Eng Es	stimate	Min. Bid	Max. Bid	Avg. Bid
No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Price	Price	Price
1	20800150	TRENCH BACKFILL	82	CU YD	\$35.00	\$2,870.00	\$38.00	\$136.64	\$87.93
2	21101615	TOPSOIL FURNISH AND PLACE, 4"	843	SQ YD	\$5.00	\$4,215.00	\$0.10	\$9.00	\$4.82
3	21301052	EXPLORATION TRENCH 52" DEPTH	100	FOOT	\$50.00	\$5,000.00	\$1.00	\$46.86	\$25.01
4	25000210	SEEDING, CLASS 2A	0	ACRE	\$3,000.00	\$600.00	\$4,000.00	\$8,200.00	\$6,580.40
5	25000312	SEEDING, CLASS 4A	0	ACRE	\$3,500.00	\$350.00	\$5,082.00	\$10,000.00	\$8,762.40
6	25000314	SEEDING, CLASS 4B	0	ACRE	\$4,500.00	\$450.00	\$5,082.00	\$11,000.00	\$9,412.40
7	25100630	EROSION CONTROL BLANKET	738	SQ YD	\$3.00	\$2,214.00	\$1.50	\$9.45	\$3.33
8	50104400	CONCRETE HEADWALL REMOVAL	5	EACH	\$2,500.00	\$12,500.00	\$500.00	\$1,500.00	\$1,086.00
9	50105220	PIPE CULVERT REMOVAL	373	FOOT	\$50.00	\$18,650.00	\$10.00	\$67.50	\$31.61
10	50201101	COFFERDAM (TYPE 1) (LOCATION - 1)	1	EACH	\$7,500.00	\$7,500.00	\$1,500.00	\$6,200.00	\$4,380.00
11	50201102	COFFERDAM (TYPE 1) (LOCATION - 2)	1	EACH	\$7,500.00	\$7,500.00	\$1,500.00	\$5,000.00	\$3,740.00
12	50201103	COFFERDAM (TYPE 1) (LOCATION - 3)	1	EACH	\$7,500.00	\$7,500.00	\$1,500.00	\$5,000.00	\$3,740.00
13	50201104	COFFERDAM (TYPE 1) (LOCATION - 4)	1	EACH	\$7,500.00	\$7,500.00	\$1,500.00	\$5,000.00	\$3,740.00
14	50800205	REINFORCEMENT BARS, EPOXY COATED	8,580	POUND	\$3.00	\$25,740.00	\$1.00	\$5.00	\$2.60
15	54003000	CONCRETE BOX CULVERTS	52	CU YD	\$2,700.00	\$140,400.00	\$950.00	\$5,000.00	\$3,015.72



## **Return Bid Details**

Project: Skokie Valley Bike Path Culverts

Section: 20-00999-70-DR

**Description:** This project consists of removing and replacing 4 culverts with associated headwalls on the Skokie Valley Bike Path.

**CPMS Pin:** B-01620B **Let Date:** 7/13/2021

Item	Day Cada	Description	Overetite	l lm:4	Eng Es	stimate	Min. Bid	Max. Bid	Avg. Bid
No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Price	Price	Price
16	54213681	PRECAST REINFORCED CONCRETE FLARED END SECTIONS 36"	1	EACH	\$1,800.00	\$1,800.00	\$1,800.00	\$3,400.00	\$2,723.80
17	54213687	PRECAST REINFORCED CONCRETE FLARED END SECTIONS 42"	2	EACH	\$2,200.00	\$4,400.00	\$2,500.00	\$6,000.00	\$3,914.80
18	54213693	PRECAST REINFORCED CONCRETE FLARED END SECTIONS 48"	2	EACH	\$2,500.00	\$5,000.00	\$3,000.00	\$8,500.00	\$4,862.80
19	542A0241	PIPE CULVERTS, CLASS A, TYPE 1 36"	80	FOOT	\$130.00	\$10,400.00	\$169.00	\$675.00	\$321.89
20	542A0247	PIPE CULVERTS, CLASS A, TYPE 1 42"	88	FOOT	\$175.00	\$15,400.00	\$205.00	\$690.00	\$347.72
21	542A1093	PIPE CULVERTS, CLASS A, TYPE 2 48"	118	FOOT	\$180.00	\$21,240.00	\$215.00	\$705.00	\$398.71
22	60100905	PIPE DRAINS 4"	100	FOOT	\$35.00	\$3,500.00	\$5.00	\$20.00	\$13.84
23	60100915	PIPE DRAINS 6"	100	FOOT	\$40.00	\$4,000.00	\$7.00	\$22.20	\$15.84
24	LC200051	REJECTED LOAD TRANSPORTATION	3	LOAD	\$750.00	\$2,250.00	\$1.00	\$500.00	\$210.40
25	LC200501	MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	3,310	UNIT	\$1.00	\$3,310.00	\$1.00	\$1.00	\$1.00
26	X0325825	PAVEMENT REPLACEMENT	74	SQ YD	\$500.00	\$37,000.00	\$90.00	\$490.00	\$293.40
27	X0426200	DEWATERING	1	LSUM	\$20,000.00	\$20,000.00	\$1,700.00	\$15,000.00	\$5,514.00
28	X0900064	MEMBRANE WATERPROOFING SYSTEM FOR BURIED STRUCTURES	30	SQ YD	\$200.00	\$6,000.00	\$90.00	\$250.00	\$143.20



## **Return Bid Details**

Project: Skokie Valley Bike Path Culverts

Section: 20-00999-70-DR

Description: This project consists of removing and replacing 4 culverts with associated headwalls on the Skokie Valley Bike Path.

**CPMS Pin:** B-01620B **Let Date:** 7/13/2021

Item	Pay Code	Description	Quantity	Unit	Eng Es	stimate	Min. Bid	Max. Bid	Avg. Bid
No.	Pay Code Description		Quantity	Onit	Unit Price	Extnd. Price	Price	Price	Price
29	X2511630	EROSION CONTROL BLANKET (SPECIAL)	106	SQ YD	\$12.00	\$1,272.00	\$4.00	\$10.50	\$5.70
30	X7010216	TRAFFIC CONTROL AND PROTECTION (SPECIAL)	1	L SUM	\$10,000.00	\$10,000.00	\$24,245.00	\$113,100.00	\$54,149.00
31	XX006658	FLOCCULATION LOGS	5	LOGS	\$100.00	\$500.00	\$10.00	\$500.00	\$177.00
32	XX006659	FLOCCULATION POWDER	5	LBS	\$100.00	\$500.00	\$5.00	\$50.00	\$22.00
33	X X 1111677U	PERIMETER EROSION BARRIER, ROLLED EXCELSIOR	110	FOOT	\$10.00	\$1,100.00	\$5.00	\$15.00	\$10.80
34	Z0055905	TEMPORARY CONSTRUCTION FENCE	64	FOOT	\$10.00	\$640.00	\$6.50	\$15.00	\$10.90
		Bid Total	Bid Total						